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<HEHIT>
el T8 EERLUSUNRER) AFEXE LY 2.3 2
m3
(BEYRET]
<EExXI>
FRYEY (HEH!) T8 EERLUSUNRIR) RIFERE LY 3.6+2.0+2.2= 7.8 8
m3
HBERL AL LEERLUSUNRIE) RIFERE LY 2.1+1.1+1.2= 44 4
m3
T HERK T MRE RE~REES 44 4
m3
FFEAU-R) T IMNRIEGERE) 44 4
m3
T HERK T MRE REZSE~BE 44 4
m3
<BEBEYMmELI>
WY -MEEYEIEL [EHEEY ANAOET AlFERE LY 0.55 0.6
m3
WY -MEEYEIEL (SFEEY ANAET AlFERE LY 0.35 0.4
m3
SRR U ER TA77 I EHEE IR AlFERE KLY 2.3 2
SHEERRIZ : 15cm LT m
TR U BR VYY) - EHEE AR AR E LY 2.3 2
SHEERRIE : 15cm LT m
SRR FRONEE LT T) |[TA77 VMR R AlFERmE LY 9.6 10
SHEERRIE : 5em LA m2
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<EWnET>
FOE M 0.48 0.5

m3
Aoy 0.48 05

m3
FOE nWYDRIN 1€ ::3:) AFERE LY 0.55 0.6

m3
A5y nWYDRIN S 1€:::3:)) AFERE LY 0.55 0.6

m3
FOE IR (B ) AFERE LY 0.35 0.4

m3
A5 )R (B ER) AFERE KLY 0.35 0.4

m3
<HKiTuEI>
TR EEWR 2.3+7.8-4.4= 5.7 6.0

m3
RitEusn 5.7 6.0

m3
[HEKEBEYI]
<EETI
FHEIV))-PEAE  [EA EF600mm L=2.5m/& 2.7 27




& T = = -
BRiRA TE) | RS E e T E No.3
I % - # H iR 1% = RETHE | B | & =
<fiEI>
7°LErANUELELE PU3 300A 300%300%2000 AlFERE LY 2 2
m
7°LEvANUELELE PU3 300A 300%300%1000 AlFERE LY 1 1
m
<&EKBt-IVHE-NT >
RIGITH S KM &kt 18-8-40BB AFEREELY 1 1
[E03i
(BEKEATRET]
<AIFRBREBI>
M IyMAR-77EY) MCEES0m S AKHE: BTt | BIFERI LY 20 20
F|ZEF/15~20cm m2
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<EHEEEM/I>
TREZEIE WEME MERERE M-30 (AERELIY 6.2 6 TR
E5t=3cm m2 ("'ﬁﬁﬁﬂ)
<HET>
TR EE) BYE®BA RC-30 AFERE LY 34 3
T EYE:10cm m2
L ERRBECGHEER) PEFERE M-30 AFERE LY 34 3
T EYE:10cm m2
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EYE BEZFHETAIVAI) AR E LY 105 11

t=5¢m 1.4m=*KiE m2
[EREHEKT]
<HEKIT>
KEZAT YERBFHEK 1.0 1
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[fRe&T]
< EBEEEI>
REFEZRE REFEZFEEB(RM) 1.0 1




